/DVIRB

3UDFRZQIN 5RINiDG  SURI QDG]Z SRVyi SGDP 7\J

o
™
=
n
7\
a
e 6HPIQDUXP (LFHQFIDFNIH
= SURI QDG]Z 5SRVyi
$GDP =% I+
$.6/ &
7N 7N N N
GRFIRIRILD VIUXNIXU
VSRHFJQ\FK Z BRFIRIRILD VIUXNIXU SHDIJDFID HPSUAF]QHJIR 6RFIRIRILD GID SUDZQINyZ
6RFIRRJD VSRHFJQ\FK 0Z SURIHNIX EDGDZFJHJR SU ZDU SURI QDG]Z 5SRVyi
ZVSyiFJHVQRGFL Z  SURI 6RFIRRJID Rl QDG]Z 5RVyi $GDP $GDP =% D+
QDG]Z 5RVyi $6DP =% ZVSyiFJHVQRGFL GZ SUR =% )+$.6/ 35% " =
2)+3%$"00 - | QDG]Z 5RVyi $GDP = &
ol : % :)+3%"00
z 2VIDIQH JDICFID  PLQ $28
= RVIDIQIH JDICFD  PIQ
[a)
N 7N
—-
i
GRFIRIRILD VIUXNIXU
VSRHF]JQ\FK 0Z
6RFIRRJD
ZVSyiFJHVQRGFL GiZ SUR
| QDG]Z 5RVyi $GDP =
% 2)+3%$"00
$6 &
2VIDIQH JDICFID Pl
=
™
) 7\G] 7\G]
& BRFIRIRILD ZVSYiFJHVQRGFL Z SURI 6RFIRIRJLD ZVSYiFJHVQRGFL Z SIRI
x QDG]Z 5RVyi $GDP =% D+ QDG]Z 5RVyi $6DP =% D+
> $"06 = $"06 =
7\6] 7\G] 7\6]
= 6RFIRIRJLD ZVSYiFJHVQRGFL (iZ SURI QDG]Z SRVyi BRFIRIRILD ZVSY:FJHVQRGFL (iZ SURI 6RFIRIRJLD ZVSY:FJHVQRGFL GiZ SURI
L $GDP =% )+%$"06 = QDG]Z 5RVyi $GDP =% D+ QDG]Z SRVy: $GDP =% D+
o $"06 - $"06 -
I 7\G]
(o4 6RFIRIRJLD ZVSYiFJHVQRGFL Z SURI QDG]Z SRVyi

$GDP =%

)+%$"06 z




